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7 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 4.69 5841 | #nS | 000 ~ 4.69| 1.84 928 zhLst 1.00 | 6.00 ~ 5.01 58.41 | Th4 | 6.00 ~ 56.01)| 1.84 9.28
2 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 6.99 8859 | =St | 000 ~ 699 | 1.85 9.35 Zh st 1.00 | 5.00 ~ 886 88.59 | Ths | 5,00 ~ 886 1.85 9.35
3 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 388 4876 | =S | 000 ~ 388|222 11.20 st 1.00 | 6.00 ~ 571 48.76 | ThUS | 5.00 ~ 671 2.22 11.20
4 100kN/mM%EBZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 442 56,14 | FnRS | 000 ~ 4.42| 2.05 10.54 st 1.00 | 5.00 ~ b5.45 55.14 | ThUS | 5.00 ~ 645 2.06 10.54
5 100kN/ Mm% 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 6.74 85.11 | =St | 000 ~ 674 | 1.83 9.25 st 1.00 | .00 ~ 828 85.11 | =hs | 6,00 ~ 828 1.83 9.25
P 100kN/mM%BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m#%#8% % — - ~ — —|3mZiBZ D - ~ — — —
s 1.00 | 0.00 ~ 457 57.05 | =ns | 0oo ~ 457|231 11.69 FhnLst 1.00 | 6.00 ~ 7.97 57.05 | =hs | 6.00 ~ 7.97)| 231 11.69
- 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#FEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.00 50.12 | =nst | 000 ~ 4.00| 2.40 12.12 FhLst 1.00 | 6.00 ~ 7.69 50.12 | #hs | 6,00 ~ 7.69| 2.40 12.12
g 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3mFHEZ 3 - ~ — — —
ThLst 1.00 | 000 ~ 312 39.98 | =nst | 0oo ~ 312|251 12.70 Fhust 1.00 | 6.00 ~ 6.92 39.98 | #hbLst | 6,00 ~ 692|261 12.70
9 100kN/ Mm% A5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#BZ % — - ~ — — |3m#FZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 218 29.59 | ThS |0oo ~ 218|263 13.31 Fhst 1.00 | 6.00 ~ 5683 29.69 | #nLSY | 6.00 ~ 583|263 13.31
10 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%#BZ % — - ~ — — |3m#FEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 291 37.60 | =nLs | 000 ~ 291|238 12.01 Fhus 1.00 | 6.00 ~ 5620 37.60 | ThLS | .00 ~ 520 2.38 12.01
11 100kN/ Mm% A5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ % — - ~ — — |3m#FZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 2.10 2877 | RS 000 ~ 210 2.56 12.95 Fhst 1.00 | 6.00 ~ 56.03 2877 | =S | 6.00 ~ 5.03| 2.66 12.95
19 100kN/ Mm% Z 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mi%#8Z % — - ~ — — |3mFEZ 3 - ~ — — —
ThLst 1.00 | 0.00 ~ 1.31 20.57 | TS 000 ~ 1.31| 281 14.21 Fhst 1.00 | 6.00 ~ b5.06 20.567 | #nLS | 6,00 ~ 5.06 | 2.81 14.21
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImEAD ~
Ths ~ st ~ st ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEZD ~
Ths ~ st ~ ZhLst ~ Ths ~
100kN/ Mm% Z 5 ~ 3mEEZ D ~ 100kN/mM%E#BZ 5 ~ ImEAD ~
zhst ~ ZhnLst ~ st ~ zhst ~




